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FLRAANAML 5t 200 WAL B, Ueily a4l Gua A, B,
C 3 DAL 515 s 6 24 Gileaiy 7 waust 4 suual
HintALdlu Al dnsud [sey £ ovr Gaawad 2uild
9., AT Y UL G2 A 53U ©, 4wl
Tl Y maa OMR Gozunl v Goz sias B,
Beiaze adls :

ouRd-u 203 MAL 403 sty vy & ?

(A) HREIR uig (B) Youraig il
(C) HdLey 21idl (D) [@-tiey ngd
Goaua (OMR SHEET)HI

® ® ©® ©®
Guy s Gerganl wauo O 8, 2wudl “c o ada s
{encode) 536 B, Wl 3 Wid) ugliedl agu 21 53
ool i OMRAL wisn 2uta 6 240 iy Adl.
1 4l 200 WAL Y2y A B B 3 AL wus vuadl
591 Al o w1l Y3 w4l vuar SS ys 5124
iy 5 516y ke 1 gl (Missing) 28U dl 4y
165 alA weuy dl azd 7 ur-y s Fdas wad) wgs
sieendl ddl

Geuz OMR Grzuat Mo tUE %A Al g1t d- -
s vuadl & 93 searui »uad 4l d Gilewz slauys
daraami wuadl duy sdde-l ydaiui dua w2
wlAely 3sar Guzid Sloeid) 3| ue wa vl
wflen 013 uddl yfl wy A cowd Glear wdlaudlx
ulaunls sisarl weud 8,

GHea? Wi dss Au2ll wryFs w4 oMR
GriauA wia 6 Al v 50 ddl s-uavis Adas
dzd o i 212, GHEUR1 OMR G244 ¥ & d2d
o A [Aud 536 3z Hidil e s Auz s wnd
quial-l 22l duy dss ez Ald Wy agnui un
$16 (encode) 533l 28U WA WAL AR [ad
ogseqgal @ufl Al A3 A A0 M vule adasi va
518 (encode) si-:u-j w4, addl Roidl 244 614 tencode)
sid aga-ll [@adl dleu Ad mudd 8 -l vuadl 53
adl
wrils i AUNELS 1 (=18) 2 wnaA 1, s
g1 st welRMd b4 ual emet szami wudl
8. % Yool -
() med s vil2L yaueels, vudl vldd yamels qu
Dsiots, oMRAL wise aued wud-l vidl valdd,
als 43 ay (s £{Ad TS 0.25 G U

s atadl, wid 7 GHEAL2 AU UM ML
il 2 (a6 (E) 508 5291 Al 0.28 32 s1aaumi 2uadl
dl. y

(ii) 212 Al 51514 52l Avid A i s1EL H s WA
wstll ay [sed e B Ad da saad »ud ~ud
a2 [seu U4 S16um o 3ud s (1) 32 Hmarast
uil.

(6) OMR Griau=ni Ra owo2w R Gzl Wa-d
olgy suis awal 4dl dan e susdl sinw dl
i Al um w24 88 wa -l Raud sz
Hotd 1S B, An B ug 515 v [l § wlom
gy wid dl A Hyel Al smami wuad wA
yileu su? Slzeuus sl wuadl.

(7) OMR Guzudon wHiendi Gleark oo beflais
ticlefl 218l S2Fraic B, Gleareedl 218) Kaiell OMR
Gozwarn Glewz Saias &29).

(8 udlau e Giler wddl A8 ua iy, suds,
yiale s, siudl, 2eflul, »-o saf@la & f-3s
Wy, Mivuby $iq, Uy, desydea & weu dug
Gusaull dlaig weudl Al Slcaed Slaaay amani
wiadl, duy sl ydlausla daa wd wfsiy
Waa s s daudl,

9)  ug N LU HlEAHE Ay s3dl, waly s2dl
4 [Adlas-Al Yu-unil Gednq 539 A A2fizd ssud.
Anr wateu daudl,

(n Gled aevll ) siofl oliguild -2 G-l Gusl awau
6. w4 il & U b AR dut wie sudlHl Gudls
531 s el 1l At 43 € 2l (W hite Ink), 5648 § 3ozl
B ot 5 ue Ad s3au YRt g e o

Anda Ayeie] At 3 oA umiel 239 -

(2ua wauell zivay x 1 — { (21 yausl
dewt x 0.25) + (well 513wl
Awt x 0.25) + (D558 § s 5341 ay [dsey
eulda waodl x 0.25)) = BAea Wi ydi Ha

udlai ydl @zl eie OMR Gauy 9] GBidlaisa
a2l GliE o dduis Bisdiell 289). Aw sz
5342 addl Bleuial MNaias daami g,
duer oifdnaioll wdlanwini Qaar 12 wlcig
yadl aal FIVER] widl Auial yer urt as),
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A1 4 sul Rycal| [33‘{;:41-2021 w3 NITI - vuedlort deat 35 Aldl ay yula Hd el [Bregy
a1y bt 330 0

(A) sl y1d (B) aiiad, daousu
(C) asfaRld), 1y, (D) HesiBIR, wRx:u

002. 120 WA 56 2izead At Madsit lzzdls w1 awdl selsad 3o sRe UAA Mlus 2uN w2
“egal siefsH" A ug sul ?

(A) NITI - wuula (B) NABARD
(C) Axnd dls 2ilg S-flan (D) Gualsd 141 8§ +dl
GURA AR SR AR 247 Gellat 3ouaU 2gAR SURd U ..., Wl HE Fstasdl .
(A) Ay (B) dly
(C) wiay (D) g
@wﬂwﬁ e var-AR wisulls Qod iR se .......... witd 2auami 2ued 8,
(A) &3y (B) 53
(C} Hdueu (D) yI=R
{8 2z Haudd R §<4qu 4.0 .......... W2 13 sul ©.
A) [Reuia) alsl (B) uasi alsi-l axdl
(C) cunsl i aefadl udail (D) Gualsd amun
006. argaul Dld-u U4 s curdlu il dsys sdl-ay 5{3-_{132[1 Heng uedlv 5D ?
{{A) w1820, 4L., wa “y(B) ISRO
(C) DRDO (D) C-DAC
oRA 24-52-19 Y3ul-l B3z A 54 2020 i qvid a-l A e, su Qasy ..., i
~ ajlogul e,
(A) il2[&w (B) A1 w44 vuefst
(C) yANd-s (D) yus
-
008. A 2uudl A5 e Gl Az vivendl v v2g Gy Gudla dl Ad-u AR sy elloifs v (aeal)
RUCERE i
(A) Rz & AB) afd
(6 T _ AD) 43

H . SR [Contd.



@ e Harl 1A wsar gasiyq
L (A) AL RaR% G (potential energy) 48 8 24 A1 2R Gl (kinetic energy) 42 8.
o (B) AN RUR o Bl y3 B 0 Al 2@ Glod adl 8,

(C) Al Ruer Q1o Anor R Giof ol 2l B,

(D) a0 RuRer Qo Aseey 1R Gl 04 42 B,

@- Ylui vasuy 64y (nuclear fusion) L ulbw wid .......... 39 9.
(A) v o Bl dawirt W vy o Gl eouet
(B) N3 dramit 243 Gz et

(C) Gy Arwaut A Ay eoum “{\()‘H/ﬁ

(D) viot o Gl drustist w44 eousy 4]
011, A1 WA erdu 2wl 56 oAl Al ydlu 2000 243 el wBsll opil-dl AZu 52 & ?

L

(A) UM 24 10380 - (B) t3euud uda 3 22
(C) 2uum A 3 (D) w3euud 132 213 rRud

012. spridni il st D104 su Reel i o ?
ANl sl ol Alargul Azules gunidl Qs 8,
2. Sl siofl onallt 2uss1 ofetan 3ol gl 3 2 youd 3w wdawdl dlall - wad 8.
A3 ol ol G2 snguel HRud .

(A) $54 1244 2 (B) 451213
(C)s2 a3 - M 1,2413
013. s sl waf ks wiaad yadl ... wiid e udl 8.
(A) s Mlk2 (B) s+l
_((_:r@mmi w3l sl Brendu (D) Gulsd d+in
014, i eMda’ DA A 4§ 2y Aui vdl 8 ?
(A) §-il-Branlls e (B) S-al-Adllls
(C) $-81-2iidlls (D) yua adl
@ 1940) 4l Gradul r3udl P04 Gull vuaa 1+l Wy 46 udl ?
(A) wiuziold tars i wlalu (B) 2ug[Rs dvi-l (modern stage) Gy
(C) Hzad ¥ i@ 2l AHoUN b (D) GuRlsr M
016. DA-u A4 sun 154 2l 2yl A D 7
(A) Dausie oz ~—  (B) [ uda
(C) 1R na (D) -Artad eaudun 5[

[ Sﬁll [F'.T.G.TH
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..... s W50 B03teteDl RRS A ufell dvradl atel 4413 Ml 204 6.
(A) Ay (B) awsidl
~ (C) acam (D) dlasllar
@ﬂ. wan s ypudl ey e’ ..., @ avy o,
(A) Ne s dlul (B) tqdy ysul
(C) e widw (D) 22slsous Geuam £d
- 019. A LU opnul ugell oldl sdleny B ? |

(A) stflmaiy (B) Ang-5¢9
(C) s o, (D) Gz v

020. 3seu--u 5 Readwil JorRidL ..., wifhuofl suc adi,
(A) {6 (B) o4
(C) aviud (D) vionR

021. eruni [ ul¥ved due gt ...n,... Al mana w-adl AusE 53 ustu B,
(A) urauy — (B) uwu Rutmon
(C) aguld (D) yousi-ll

022. A4 441 (Fourth generation) 5»22Ani nebildafia dlrerud wudlsg ......... i uy
(A) e laubio dadey (B) 43a4a Ml dadeoy o
(C) sl-s32 slaufia 232 ) 264 A8 Wlaufia daday

) &, S flzs1 25 (Tracks) w14 As23) (S_.;:ctors) Hi [Qeud sall uBuw B,
(A) 251 (Tracking) (B) #5121 (Cracking)
(C) 4154 (Buffering) (D) Guzlsd U4 £l 4l

024, sl Wl A-) sifandt aural w2 A as Aqr Gusaal w2l wEeuls wos ......... B,
(A) -tl2us LI})_ Qfls2a fau (peripheral device)
(C) 2415 ) (D) Guglsr axm

*f;. [SRT) . [Contd.



025. 5§ amlisdl 13-20-Q-aud) (ROM) A Guulal s=ud 9 ?
(A) ROM “RAA 33 euSedl 2eran 50 a8, «
(B) ROM ui 321 :A[33 =), 2024 5, d dloy waws qo12 uet ey 22 9,
(C) 32185 (hack) s asd) «ef), ¥
(D) GuRls daun

026. ¥l ounmii (binary language) yusz-l (alphabet) £1s maz, €35 Avau 21 €35 i

(special character) .......... 4 %14y Huloyof wdg dlu 8,
(A) 2 [Ba (B) 4 Biza
(Q8 Bz | (D) 16 Brga
027, ulddl-u [Reun orenA e saawd .. Auz 2s-laleo-l Guula 53 8. .
(A) saldl (325 (B) CD ROM
(C) U1 y6a (D), GYRlsd Ay
028, HTML ui .......... #l5 ooul ti-1d 8 Fui Rl s 1A 216y 59 ausu 8. L‘J
(A) TYPE = "TEXT" (B) TYPE = "CHECKBOX" '
(C) TYPE = "NEW" (D) Gualsd Q4L 5185 il .
029. i w3 i 2t .o Hi A4 (Save) 530 651 i dadl 321 512229 oy s AL U |
v150{Y 24 B,
(A) RAM (B) w420ld
(C) As-s3) 2213 s (D) sl 22039 fausy :

"@ ogdl-t-1l Aldl Gyl 22 overenne «il ol glu 8,
(A) &5 Hdlui 8 e Ala yerd-u 256t () v uwa wadA
(B) &5 41 2ddA 2 wdl-u seil
(C) 55 udlui 2den Alwu uerd 2540
(D) i 28a Alwa ueidl-u 2581, 4w Bada 1 Wl sl

031. 2ileifl 2ol ctotd DA 4 53 7 san [t / Qe ey / wai o ?
AA) Al A Anil-l faud & adl,
~(BY AR 200U B wl] woi] 2 g,
(C) (A) 211 (B) ¢l i
®) (A) =1 (B) 61 14 46 4l

" Sl [SRI}2 rero. IEN -




032. 2w MR- yansd ddi urngil Guz 52 dag sul dldf uaad ol 5 ?

(A) SN (B) 59
(Q) ellat-ugdl (D) Ry puls i
. ialoA [Agw dAMS1E Wi e, AL Agra 360 S SEIU wiRotR anan 2 ol
(A) Julag (B) byl ™ld
(C) & ™A (D) 2d(de A3
@ 1904 -0 suttRaws uReY HERREH ......... 2B GIRL AR 52U w1l Sell.
(A) uws2 (B) Lwié o
(C) &t (D) »u3dl
@ PECICIPICY CETT T — 1 i wze el sl 21 dlsn arl Yl 260l gdl.
(A) puuar (B) alsopd A

L . (919&4 (D) -
036. 20111 4zl a1zl sigeuz Ad-u A4 sal Feell A 2151 AR Yol 4 B 7
(A) el ' (B) \lavieR
(C) ad R )L S

037, dyoria-ll clladfas crfasaied susd Ad-n U4 53 R g Al ?
372t 2l Al divll APRA2 4ud B. '
@ geriall Grdla A 152 w0 ddl dladl Ay ey GwL 53 Al 4ud 68,
(CY i an 361 2l 19.66 am 8522 %l 4ud 9, .
) Ui e wirv 731l 4R 2 Yd Rowdid it cului a6,

@. DA A4 56 goll AN Gundl / Gundlil © ?
(A) wraus (B) olln
(C) (A) 211 (B) oA | (D) (A) A (B) &I 14 AS =l

wifF5e vissl ouotd DA WA 54 / sul Qi / RaAl /i 9 ?
(A) vuet 5 wssl dl2t 52 Hud 8 R AdRs UF g viss oulEs s wy] 1 B,

k_ (B) 215 s8] yedl- ulusidl 3oa ot oi-id 8, d MR WSS UdilL 3R 412 #ugd §lu 8,
(C) (A) 241 (B) 6i4 I
t-._ (D) (A) 241 (B) 6§ Q4 815 ]
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040. 021 A4 521 1wl Bttt 2ud) 243y Azl 4ud & ?
T (A) 1y A 513, Raay uda, oo w3 AR
+ (B) Nem, o33y 51ﬁﬂ AR gmm
(C) 3 a1 s, o, e.[iaum 1 A2
-+ (D) i, [&mua e, AU A AR

041, NA-u A wehlailo 5y % Rt w0l (endangered species) Al Aellui 202 & ?

(A) ulus (32 §-flun orad), 53l 4oL (M2 Qu), 2idl uise (38 uis) 2d gz (wAledls
ades Aw)

(B) 5l da (sl 22a1), Nae, Qs (bey tge) A mlus
(C) Rl (3 Aud), surfiou (s fur), 5§ (Deua u-dl) 24 w2 (34)
(D) et 265e8 Hs1s, A s, $quint €32 w1 e

it Aerlal Shldlwsa Grulisi (ecological succession) -4t ®uoL ddl3 gl ......... 1 424

Qi e Adi ),
(A) Fgoil 211 g2 )
(B) HuilEa yelusin A4 Wus dvdll 21esaq
(C) wisll-l 3ulet ;4 2u2
(D) GuRisd UL 816 -]
A1 U4 s wRRAMAA=A (ecosystems) ui wiagven (foodchain)ui sudlsun (Biomass) -l G4l
Rufs A ud 8 ?
(A) a1 (B) B
(C) - Aer-il N
044, cudaui %rdly WaRRa 2l ........., 3.
(A) 33% (B) 17%
(C) 29% (D) 23%
045, 0341 U4 su1 Yyeuawdl-l Fg-uus 43 Guala s usu 6 ?
(A) d2Rw (B) g2
(C) w2 _ (D) Gulsnt dsun
ISR L



. e H812 SRM( Al 123 yRur an Gudlad 2 128l Ml AL B8 ?

(A) 2llui s Adu el ol yauepdl gzl U A (nitrogen fixation)
ay 3,

(B) *n 81820 oDl yRaun R 623 2l 53 6.
(C) s g1 el Sz wdsuss, 3 @ As 16 ay B, Braga sl 4.
(D) Al 5128 yRuu s s wid wa-Neanas s (weedicide) 213 vildf Huly .

—_—

047, A0 WA g yearicllon e e sielen-l ooy 441 ?
(A) uddl Asin (B) diy W2 21
() Axun detimin 3u-L 2ediil () csun W2 vl ol

.-

048. A0 W4 sy / sun R/ Rl 20 / i 6 7

(A) el “[Qenesd oil-s” oyt il du-l R 5024 2uomad v 24 A wilesiui 2iled walis
set P et y3 wsal wid Wleula 53 8,

(B) i “Rendle” dlsw oyt wabts sl ot 524t Renellviln wusBus Yy
W2 3 o arl yen Dl y:dwl 8,

. (C) (A) »1A (B) +i2 ’
(D) (A) 21 (B) il U8} &S ]

WAL a-t pulld dla dloy-u oot A U4 5y / sul Qe / Rl g /i s ?
(A) A3 Gridet calEr Yeyu Baauni 20l S50 Avius] sador 3 A am O,
(B) A 8 f) 60 ay azd-u quage w2 Guasy 8. _
(C) aufils My 31. 1000 8 244 A4 62 a¥ -y 59 sy B,
(D) Guilset dsat

’ @ -4t UL 56 dloy-u “As Breall, 215 Grule” (One District, One Product) 3 aisnudd) & ?
(A) w BfAeR - slandAu- wls sl 53 AR A-2auSA (PM-FME)
(B) slss0-clless S=U-dla 244 (PLD)
(C) war-ti-ll 2ucef s Wt (PMAGY)
(D) -t Bux :iuet dle-u (PMKSY)

" @ Ad-u U4 5y [Qg12s adld auaw d ?
(A) 8l2s rusaluss (B) #2s3dls 25088
(C) Ande (D) S Fuudl+

B (SR [Contd.



052. A1 A gl 46 AN 20 o tug 4 el weadl g culd B ?

(A) [ARUM A R (nasydl) (B) [alaum ¢4 2EHMuu
(C) AYMMUH 13 1) Ryun (D) Gl A4 A1 Al
o DA AL 485 uts Y1 asells Aegar AN 20 v Guz 2fla B ?
(A) sau vt-uadl (Grafting) (B) Alay seua
(C) x5 (Layering) (D) aelaisdl s (Hybridization)

054. Sua ugl.:w R g3 siRea 2l uzAL g Norudar w2 Ad-u 14 sl Gualst s2ami
L

(A) $aldl1 (B) s1o{4 sedlsuds
(C) "¢ (D) wd

055. 1793 -u w2 wRAuM suoid Au U4 sy / sui Qe / Rl 0z /200 6 ?
(A) d-uell stz el Arinl w21l wul.

A_/;B}Flé. ol 20 a1 amuauen M2 eudai Sudl-l dur AssR (trade monopoly) deudl
i),

(0 44 dulluugad 64 Mda g audodlat< wreuld 54,
(D) GuRlsdt d3um

056. sadil-2 »0g S-fut As2 1935 onid AA-u A4 54 / sul Rt / Rl g / 0ai 69 ?
(A) A il 24 260 pusiill wudy s A G g s3a-l 2an-u 1+l Asad 54l
(B) 211 wRRAYA w-dld el a3 53
A) 21 (B) oi
(D) (A) 4 (B) &iA U4 416

057. cuadly siueml BriineiRsd siod - U4 54/ sul Qe /Rl 2y i e ? -
(A) Braineus il ulEnll Rend-u amd 244 y{ qzal Ayel v sald 8.
(B) ctradlu sz BiriseiR s g ssiucis Ad yldrd 54l 8,
(C) % it Rouaal viadl Dalns dzeitul 5S ugﬁﬁq Y-l 2uyqan Al 204,
(D) Gudlsnt avin ' . oy

058. 2yt GuR udlea wered-t sed-l a1 4 s8-A0 / Wil 020 I Al B ?
(A) 3aaie ouadl 33 — 2 HuRel oua 9.
(B) Azoudl Jat — iy ofal eudt 8,
(C) (A) »1A (B) 44
Q_}. (A) ¥ (B) ¢{ Q4 818 Al

[sm] y rrro. B}



059. curd-t ueal sivid A4 WA 5y / st RAuie / [Rul 03 / WAV ?
(A) de Vel waz yayot o or A el 69040 1l 13 6.

(B) w2 (s 2uilirarl 2uan dl Adust aru s ag Bl vl SRR gL sy
audl 9,

(CL(A) 214 (B) wid
(D) (A) ¥4 (B) 6id U4 A6 -l

060. -uen RAus eeid DA W4 5 Ruaet 21y 41 7
(A) o Rus aopuucuni 29 59 usid L,
_B) A dlsaouni ua aul s A el Mgl 2l 24, _
(C) wuzieu - mennell 208 30 Ramen wuuounsi RAusA yad 524, -
D) A dlsuon apuuoud Sug semel-l a{lm At 43 dl e [QAus yaur udy aumﬂ

@ wuiazelly R wisaq suod Q- Q4 4 | sl [&tu-t fRul Y f a8 ?
(A) wulaelly 213 wiiset yulazm qzme +RREH d51 drami 2oy g,
(B) vtlarellu 24212 viisen wulaelly yeuis aBR 6131 sl 20 © 3 9 215 e 8.

(C) (A) %1 (B) id
(D) (A) 241 (B) tid U4l QS
062. 02414 44 cue-u 201y 4s2 wied 43 2nda s2aumi v 6 7
(Y] diel) (B) iy
(C) R (D) aun =

A0 W4 s i a2 2164 MdA wuaed] 2 492 wda 58 ?
(A) 2Au. Al uden (&, yflu 245 §-fuy

(B) [Rauvu @, 222 2ils oz
(C) Rz »ils Bz [, yAluq 215 §-Qu
(D) ¥ 2. ol [, yrflu 2{lg §-fau

@ Al uy shiid AR A4l va (5 EEEL T ST i S .
(A) 2[@s a2

(B) 2ua@s a3~
(C) wamugg uan
(D) g ugua 5t Al gran sl saumi vudedl ay 8,

‘) W ' ISR} [Contd.
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065. NIC-CERT 324 ...
(A) AUt §-613A0 53 22 — 523423 AT N4qdl dn
(B) et §6125 Av23 — sauages dlson fasiloa A
(C) e -1 85w Az — 5422 Suer-ll Danil-w Ay .
(D) Auet S-lacom A-az — 5uy23 Suanyw=ll Asadl Au

066. axdl 2124l 2011 2R gl 4o avdld o 2K 6
opr el aadl-l g1l dzed B ? (2 A
(A) 4.53% (B) 5.71% —54
(C) 4.99% (D) 6.72% ({12
067. NITI - 2l tuetd D U4 sy R iz -4 ? —

(A) NITI - 2udlan 5+ 244 212l 26eid g0 aes wdwd 6. )

(B) NITI - 2ualan 20fla Retii 2005tlA 205 201l s1ef 530 12 o1z u 51t 4aludl 3 adld sim 53
B 21 3 Ad wesdl e Mg 2l 8,

(C) NITI - 2143l uan SDG - ourd yausis @yl

(D) Gualsd 1A 4l +dl -z
MHI Wa 2 dal 4 2 Guedial suudld sidezan4 dall 52 [ © Ful fs 2 2ol wual
TguRA weal ua 52 adudl 53 9, suolaflywlA .......... WA vy-aami vudl 8.
(A) 24 (B) w12 Ruu
(C) -l (D) B
069. 1537 i W@ Wz 513 2rudg cooenvnen oigR 5047 5,
(A) vioud (B) €4
(C) M3 (D) Rigz

070, WA da susid Ad-u A 5y [ sui Rt /Rl g /w9 ?
(A) dldAvi wgsdnidl Qadl sueu 8 3 F2 1030 dl 1330 2l YU ouRAAL WM 2] W ouRAHi
TR CTETL TR
| (B) yauzr-uder aua szl sl vl walaas wzen 3R .
(C) (A) A (B) wA
(D) (A) 211 (B) vin U4 416 1l

071. 73w siwaelu a2l wARuy dedl st ......... -l el ly 8,

(A) dauud S50 -l i Yo axdl
(B) duud ds0-tt aunefl wid qudl +1el ax diadl sl Rl daun axdl

(C) Mauud dsca-tt uut e Haeel
(D) Guls U4 816

[SRI).. (PT.0. n
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072. vaad- feellad cuud AA-u U4 sy Qa0 O ?
A qauud-l eeliul GAeaidl s2a1 2 ayrn ay 25 al 9.
" (B) YauadlQ Yeella Azl A adaul addl el w2l HAgRUEAL A4 dlosaml
(C) Naudl A AL il el aealniel A du- gt wala dld eami 2ud 8,
(D) Gulsn AA 816 44

073. 73s iniaelu Yz wlRRuw, 1992 3 R Bal vuiudl 2ol dzeauzilA gt 2 G g
8, AN AN s 5187

(1) s daud (2) 312 Yauud (3) edls ulHA
(A) est 1 F L (B) 4512413
(C) 823 ' '“p(n}l,zm-'ls =
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131, Tamnot going . 1don’t like this town. Thereis____to go.
(A) nowhere, anywhere
(B) somewhere, elsewhere
(C) anywhere, nowhere

(D) nowhere, nowhere

132. Do you know the reason his absence?
(A) of (B) on
(C) for (D) None of the above

133. The mother was concerned the safety of her child.

(A) at (B) about
(C) for (D) upon

134. Despite the material donations from the local shops, the school still needs —___ more
equipment such as video players, cassette players and computers,
(A} a few (B) many
(C) some (D) no

——

135. There is information available on recycling, but unfortunately, little of is
known by ordinary people.

(A) a lot of, it (B) plenty of, them
(C) several, its (D) much, theirs

136. I’ve seen of his work to know that he’s réady for a promotion.

(A) a number (B) a few
_L(E_]_gevera] (D) enough
137. She Is fed up with sharing a house with others; _ , she is looking for her own Tat,
(A) moreover . (B) therefore
(C) however (D) although

138. Heis not leaving the company because he is not happy there; ___ he has enjoyed working
there, but he has other reasons.
{A) on the other hand
(B) as a result
(C) however

T

(D) on the contrary

[SRI]. [Contd.




; The terrorist group is knowp G

an ey, _
i} (A0 have ——— AN extengjy,e supply of weapons.
©) having had (B) having

(D) have had
" [ ws surprised at the low level

respected company, of service offered by them as [ had believed them 4
(A) be

B)t
(C) having been (B) to he

(D) have heen
(41, Thisbookis entertaining

b and —_ informative, 5o I definitely recommend it to you.
, 2 5

(A) both, an (B) either, or

() so, that

(©)

(D) neither, nor
142. The police are determined tq find

(A) in spite of
(C) even il

the culprits long it may take to trace them.

(B) however
(D) the more

3. ____ herillness leaving her very weak at times, she tries to derive pleasure from life.
(A) Despite (B) Whereas
" (C) Although

(D) However

144. She not only gave us a fine dinner drove us back home.

(A) but (B) but also
(C) also § - (D) also but

145, The tailor said to him, “Will you have the suit ready by tomorrow evening?™

(Change the speech) o

(A)The tailor asked him that he will have the suit ready by the next evening,
(B) The tailor asked him that he would had the suit ready by the next evening.
(C) The tailor asked him if he would have the suit ready by the next evening,

(D) The tailor asked him if he will like to the suit ready by the next evening.

146, He told her, “I want to meet your father.” "
(A) He told her that 1 want to meet your father.

(B) He told her that he wanted to meet her father.

(C) He told her that he wanted to meet your father.

(D) He told her that she wanted 1o meet aek mﬂ_wr.

T [sﬁﬂ—é [PT.0. m
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147. The sweetly flowing tones of the flute succeeded in his tense nerves.
(A) exploring (B) purifying
(C) disturbing (D) soothing
148. The bomb might have if the children had tried to move it.
(A) shaped up (B) drained out
(C) burst in (D) blown up
149. We are no happier average incomes have more than doubled since 1950.
(A) in case (B) in view of
(C) even though (D) in that
150. You so envious of your brother. He is'successful because, unlike you, he works
extremely hard.
(A) haven’t been (B) won’t be
(C) weren't {DJ shouldn’t be
151. Twouldn't allow child of mine to be treated in that way.
(A)a (B) an
(C) the (D) No article
152. He suddenly heard sound like gunshot.
(A) a, the (B) a, a
(C) the, the (D) the, a
R,
153. You should be concentrating on your project listening to music all night long.
(A) so that |
(B) even if
(C) rather than
(D) no more
154, I gave him all the money 1 had.
(A) what (B) those
(C) that (D) why
155. Each country is responsible to keep for peace in region.
(A) work (B) works
(C) worked (D) working
(8R1) [Contd.



56.

157.

158.

159.

160.

161.

162.

He _____his father in the shop until schog]

(A) is helping, starts e
(B) helped, was starting

(C) was helping, will start

(D) has helped, is starting

The Museum is free, It doesn’t cost

t
(A) somebody DR
(B) anybody
(C) nobody
(D) anything
Neither ofus ____ going to attend the meeting.
(A) are (B) is
(C) were (D) was
They in Sector 21 for five years.
(A) are living (B) were living
(C) has been living (D) have been living
Why you come late every day?
(A) do you come

(B) did you come
(C) have you come
(D) did you came

If he me tomorrow, I some difficulty doing the work on my own.

(A) weren’t to help, would have
(B) doesn’t help, would have had
(C) shouldn’t help, would have had

(D) wouldn’t help, had

The company I work for offered me to choose between a better salary and a flat in the City

Centre and I chose ____ "
(A) the latter

(B) the last

(C) the later

(D) late
[P.T.O. m
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163.

164,

165.
. 166.
16'3.
168.
169.

170.

We have already done the exercise. (Change the voice)
(A) Already the exercise has been done by us.

(B) The exercise has already heen done by us.

(C) The exercise had heen :ilra::wl:.r done by us.

(D) The exercise is already done by us.

One should not give unsolicited advice, (Change the Voice)
(A) Unsolicited advice is not to bhe piven,

(B) Unsolicited advice can’t be given.

(C) Unsolicited advice may not be given.

(D) Unsolicited advice should not be given.

I'really dislike ____to work on Sundays because I feel torn between my family and work.
(A) to be asking | (B) asking

(C) being asked LAEE 5 (D)-having asked

Medicines and chemical cleaning liquids out of children’s reach.

(A) should be kept (B) must have kept

(C) need to keep . (D) have kept

Select the correct antonym for the word ‘impediment’.

(A) Handicap’ (B) Barrier

(C) Obstacle (D) Advantage

Select the correct synonym for the word ‘resemblance’.

(A) Happiness (B) Similarity
(C) Animosity . i (D). Sorrow .. -
I was a child, I have been afraid of the dark,
(A) As long as ; (B) Ever since
(C) Until ‘ (D) Since b
Strawberries are n'heap at the moment' . we should make some jam.
(A) both, and ST PR T (B) not only, but also
(C) so, that ik (D) more, than
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